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TRy - T - A% - A5 MO LFENAL B G EHAm & T2 (BB
BV
= 1 202, 666, 855
T e R T
= 1 198, 567, 127
E¥LT
= 1 2,836, 127
R L
= 1 195, 731, 000
SRS (A) A5HA! JRIRERAARR S 32. 0m JE
AE 31.5m
58 21 1,672, 000 35, 112, 000
SRS (B) A5HR! JRIREAAARR S 32. Om JE
AE 31.5m
58 21 1,673, 000 35, 133, 000
SRS (C) 45HR! JRMRERAARR S 35, Bm JE
AE 35.0m
58 15 1, 812, 000 27, 180, 000
SRS (D) 45HR! JRMREAAARR S 35, Bm JE
AE 35.0m
58 15 1, 814, 000 27, 210, 000
SRS (E) A5HR! JRMREAAARR S 35, Om JE
AE 34.5m
58 8 1,791, 000 14, 328, 000
SRS (F) A5HR! JRMRERAARR S 35, Om JE
AE 34.5m
58 8 1, 799, 000 14, 392, 000
SRS (G) A5HR! JRMRERAARR S 35. Om JE
AE 34.0m
58 6 1, 769, 000 10, 614, 000
SRS (H) A5HA! JRIREAAARR S 35. Om JE
AE 34.0m
58 7 1,777,000 12, 439, 000
SRS (1) A5HA! JRMRERAARR S 35, Om JE
AE 34.0m
58 6 1, 753, 000 10, 518, 000
SRS () A5HA! JRMREAAARR S 35, Om JE
AE 34.0m
e 5 1, 761, 000 8, 805, 000
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THEXy « T - FER - 5 Mo % LFENAL B G EHAm #H T2 (BB
fFHFE R T
= 1 305, 744
TAT 7V MG T
HLE AR (A)
= 1 90, 520
g e (e - D) FLE)T9vTy RC-30 41 0 JE 110
mm
m2 31 636 19, 716
- R (R - BRI R FIHR A M-30 {1 =V E 70
mm
m2 31 591 18, 321
FE (FaE - B PRI EET AT, (13) &H4EE 40m
m 3. Omtd
m2 31 1,693 52, 483
TAT 7V MG T
HLE AR (B)
= 1 108, 352
FE (FaE - B PRI EET AT, (13) &H4EE 40m
m 3. Omtd
m2 64 1,693 108, 352
i L
= 1 106, 872
RHEBESRT ny) BFE (180/205 X 250 X 600)
BB-1-3 (200) # Z= % &
m 24 4, 453 106, 872
HEE L
= 1 130, 987
& B L T
= 1 54, 636
EEERR BT TAT 7V MEHZERR 15emBl
m 8 542 4, 336
LR TATWMIEERT 2SS 15embl
m2 100 503 50, 300
TEALER T
= 1 76, 351
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
P TAT 7
m3 4 1,602 6, 408
ALy TAT 7V bk
m3 4 1,175 4, 700
B3 A A 11. 28t
= 1 65, 243
Gan
= 1 3, 662, 997
THHER T
= 1 227,325
- F - B T
= 1 962, 017
VESEY-D Hei T
= 1 2,312, 020
1R IE T
= 1 161, 635
B TR
= 1 202, 666, 855
MR E
= 1 15, 106, 910
B3 TS
= 1 2,592, 910
TR
= 1 993, 910
TR AR T W3 1=
= 1 939, 300
IR TR 10. 4t
= 1 54, 610
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
BGmEsET (K30
= 1 1, 599, 000
HIMGERE (FE L)
= 1 12, 514, 000
Wi
= 1 217,773, 765
B
= 1 44, 451, 000
T AT
= 1 262, 224, 765
— R
= 1 28, 125, 235
TS
= 1 290, 350, 000
THEBLFH Y %H
= 1 29, 035, 000
TH#&G
= 1 319, 385, 000
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